

## Tentative Venue Allocation -Sri Lanka Expo 2026 18th to 21st June 2026

## 1. Main Hall - BMICH

DAY 01

DAY 2

**DAY 3**

Venue/Area	20th June 2026									
Main Hall -	7.30 -10.00 am	10.00-11.00 am	11.00 -12.00 pm	12.00-1.00 pm	1.00-2.00 pm	2.00-3.00 pm	3.00-4.00 pm	4.00-5.00 pm	5.00 -7.00 PM	
Main Hall										
Main Hall – Flag Area/ front marquee /registration counters at the outer area.	Registration Counters									
Tulip		VIP Launch								
Saffron		VIP Launch								
Sapphire Banquet Hall		Gems and Jewellery Pavilion								
Main Hall										
Main Hall										
Green Room (optional)	Expo Sec									

**DAY 04**

Venue/Area	21st June 2026									
Main Hall -	7.30 -10.00 am	10.00-11.00 am	11.00 -12.00 pm	12.00-1.00 pm	1.00-2.00 pm	2.00-3.00 pm	3.00-4.00 pm	4.00-5.00 pm	5.00 -7.00 PM	
Main Hall										
Main Hall – Flag Area/ front marquee /registration counters at the outer area.	Registration Counters									
Tulip		VIP Launch								
Saffron		VIP Launch								
Sapphire Banquet Hall		Gems and Jewellery Pavilion								
Main Hall										
Main Hall									Cultural Show	
Green Room (optional)	Expo Sec									

**2. Functions Rooms for Parallel Events****DAY 1**

Venue/Area	18th June 2026						
Functions Rooms	10.00-11.00 am	11.00 -12.00 pm	12.00-1.00 pm	1.00-2.00 pm	2.00-3.00 pm	3.00-4.00 pm	4.00-5.00 pm
Lotus Hall	B2B Meetings						
Lavender	Paid to BMICH and events not allocated yet (removed Press Briefing room & moved to Ruby)						
Orchid							
Jasmine							

Cinema Lounge	Media (local/international)
Ruby	Press Briefing Room / Product Pitch
Mihilaka Medura	Shrine Room (Not paid to BMICH)

## DAY 2

Venue/Area	19th June 2026						
Functions Rooms	10.00-11.00 am	11.00 -12.00 pm	12.00-1.00 pm	1.00-2.00 pm	2.00-3.00 pm	3.00-4.00 pm	4.00-5.00 pm
Lotus Hall	B2B Meetings						
Lavender	Break Out Session/Investment Forum						
Orchid	Symposium						
Jasmine	Symposium						
Cinema Lounge	Media (local/international)						
Ruby	Press Briefing Room / Product Pitch						
Mihilaka Medura	Shrine Room (Not paid to BMICH)						

## DAY 3

Venue/Area	20th June 2026						
Functions Rooms	10.00-11.00 am	11.00 -12.00 pm	12.00-1.00 pm	1.00-2.00 pm	2.00-3.00 pm	3.00-4.00 pm	4.00-5.00 pm
Lotus Hall	B2B Meetings						
Lavender	Paid to BMICH and space not allocated						
Orchid	Symposium						
Jasmine	Symposium						
Cinema Lounge	Media (local/international)						
Ruby	Press Briefing Room / Product Pitch						
Mihilaka Medura	Shrine Room (Not paid to BMICH)						

## DAY 4

Venue/Area	21st June 2026						
Functions Rooms	10.00-11.00 am	11.00 -12.00 pm	12.00-1.00 pm	1.00-2.00 pm	2.00-3.00 pm	3.00-4.00 pm	4.00-5.00 pm
Lotus Hall	B2B Meetings						
Lavender	Paid to BMICH and events not allocated						
Orchid							
Jasmine							
Cinema Lounge	Media (local/international)						
Ruby	Press Briefing Room / Product Pitch						
Mihilaka Medura	Shrine Room (Not paid to BMICH)						

## 3. Parallel Events- Outer Areas

Venue/Area	21st June 2026							
Parrelel Events - Outer area	10.00-11.00 am	11.00 -12.00 pm	12.00-1.00 pm	1.00-2.00 pm	2.00-3.00 pm	3.00-4.00 pm	4.00-5.00 pm	5.00-6.00 pm
In front of Hall A & C - Marquee	Culinary Event							
Outdoor Canopy near Hall C-D							Cultural Show	

Western Car Park -(H) + another few smaller Marquees	<b>Stalls</b>
Outer Lawn (I) Marquees	<b>Stalls</b>
Open Air Theater (F)	<b>Stalls</b>
Nuga Sewana (E)	<b>Stalls</b>
Nuga Sewana Back	<b>Stalls</b>
Nuga Sewana Terrece	<b>Stalls</b>
Mihilaka Medura (Side area) Marquees	<b>Stalls</b>
VVIP Lounge at Sirimawo Hall	<b>VVIP only for HE and PM</b>
VIP at Sirimawo Hall	<b>VIP Lounge</b>
Lobby area (Hall A-B)	<b>Innovative Product Display</b>

## Operational Rooms - Sirimavo Hall